
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

4 +3 +1 +2 +2 =12 
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4 

12 

8 

4 

𝟐𝟐𝟐𝟐
𝟐𝟐𝟐𝟐

= 𝟐𝟐𝟐𝟐÷𝟑𝟑
𝟐𝟐𝟐𝟐÷𝟑𝟑

 =  𝟕𝟕
𝟖𝟖

 

 
𝟗𝟗
𝟏𝟏𝟏𝟏

= 𝟗𝟗÷𝟑𝟑
𝟏𝟏𝟏𝟏÷𝟑𝟑

 =  𝟑𝟑
𝟓𝟓

 

 

 في أبسط صورة 

𝟔𝟔  كرة قدم = 
𝟏𝟏𝟏𝟏

 = 𝟏𝟏
𝟐𝟐

 

 

𝟐𝟐𝟐𝟐  مطارات = 
𝟐𝟐𝟐𝟐𝟐𝟐

 = 𝟏𝟏
𝟏𝟏𝟏𝟏

 

 

9 

50 

5 

3 

𝟐𝟐÷𝟐𝟐
𝟏𝟏𝟏𝟏÷𝟐𝟐

 = 𝟏𝟏
𝟓𝟓

 

 

𝟏𝟏𝟏𝟏÷𝟐𝟐
𝟑𝟑𝟑𝟑÷𝟐𝟐

 =𝟓𝟓
𝟏𝟏𝟏𝟏

 

 

 في أبسط صورة 

𝟏𝟏𝟏𝟏÷𝟓𝟓
𝟒𝟒𝟒𝟒÷𝟏𝟏𝟏𝟏

 =𝟏𝟏
𝟑𝟑
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𝟐𝟐𝟐𝟐÷𝟒𝟒
𝟏𝟏𝟏𝟏𝟏𝟏÷𝟒𝟒

 =𝟔𝟔
𝟐𝟐𝟐𝟐

 

 

4 9 

3 5 

18 4 

6 4 

𝟔𝟔÷𝟑𝟑
𝟗𝟗÷𝟑𝟑

 =𝟐𝟐
𝟑𝟑

 

 

𝟒𝟒÷𝟐𝟐
𝟏𝟏𝟏𝟏÷𝟐𝟐

 =𝟐𝟐
𝟓𝟓

 

 

𝟓𝟓÷𝟓𝟓
𝟑𝟑𝟑𝟑÷𝟓𝟓

 =𝟏𝟏
𝟔𝟔

 

 

𝟐𝟐𝟐𝟐÷𝟗𝟗
𝟓𝟓𝟓𝟓÷𝟗𝟗

 =𝟑𝟑÷𝟑𝟑
𝟔𝟔÷𝟑𝟑

=
𝟏𝟏
𝟐𝟐

 

 

𝟐𝟐𝟐𝟐÷𝟕𝟕
𝟕𝟕𝟕𝟕÷𝟕𝟕

 =𝟒𝟒
𝟏𝟏𝟏𝟏

 

 

𝟏𝟏𝟏𝟏÷𝟓𝟓
𝟏𝟏𝟏𝟏𝟏𝟏÷𝟓𝟓

 =𝟑𝟑
𝟐𝟐𝟐𝟐

 

 

 في أبسط صورة  في أبسط صورة 

𝟐𝟐𝟐𝟐÷𝟔𝟔
𝟑𝟑𝟑𝟑÷𝟔𝟔

 =𝟒𝟒÷𝟐𝟐
𝟔𝟔÷𝟐𝟐

=
𝟐𝟐
𝟑𝟑

 

 

𝟏𝟏𝟏𝟏÷𝟒𝟒
𝟏𝟏𝟏𝟏𝟏𝟏÷𝟒𝟒

 =𝟒𝟒
𝟐𝟐𝟐𝟐

 

 

𝟐𝟐𝟐𝟐÷𝟔𝟔
𝟔𝟔𝟔𝟔÷𝟔𝟔

 =𝟒𝟒
𝟏𝟏𝟏𝟏

=
𝟐𝟐
𝟓𝟓

 

 

𝟐𝟐
𝟓𝟓
 =𝟖𝟖

𝟐𝟐𝟐𝟐
 

 

𝟏𝟏𝟏𝟏
𝟐𝟐𝟐𝟐

 =𝟐𝟐𝟐𝟐
𝟒𝟒𝟒𝟒
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𝟑𝟑𝟑𝟑
𝟒𝟒𝟒𝟒 

 
 

 

 

 

 

 

𝟔𝟔
𝟏𝟏𝟏𝟏

 =𝟑𝟑
𝟓𝟓

 

 

𝟒𝟒
𝟏𝟏𝟏𝟏

 =𝟑𝟑𝟑𝟑
𝟖𝟖𝟖𝟖

 

 

𝟏𝟏𝟏𝟏÷𝟐𝟐
𝟓𝟓𝟓𝟓÷𝟐𝟐

 =𝟔𝟔
𝟐𝟐𝟐𝟐

 

 

 انظر أعمال الطلبة 

𝟒𝟒الكسر المختلف = 
𝟐𝟐𝟐𝟐

لأنھ لا یكافئ   
𝟐𝟐
𝟓𝟓

كبقیة الكسور   
 الثلاث الأخرى 

 

بضرب أو قسمة كل من البسط والمقام على العدد  
 نفسھ 

 40، 20،  10،  8،  5،  4، 2، 1: 40قواسم العدد 

 36، 18،  12، 9،  6،  4،  3، 2، 1: 36قواسم العدد 

 4ق.م.أ = 
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 45،  15،  9،  5،  3،  1: 45قواسم 

 75، 25، 15،  5، 3، 1: 75قواسم العدد 

 15ق. م. أ=

،  20، 15، 12،  10، 8،  6،  4،5، 3، 2،  1:  120قواسم 
24  ،30 ،40  ،60  ،120 

،  30،  25،  15، 10، 6، 5، 3،  2،  1:  150قواسم العدد 
50  ،75 ،150 

 30ق. م. أ=

 أكثر معقولیة2     2= 4÷ 8    8≈  7.8

 7= 38-45ھـ=

 لا یوجد   43=23- 66ص =

     2 
       8    3   
       6 
      2 

-
 

 2والباقي   2=

 1والباقي   3=

     3 
      19    6   
      18 
      1 

-
 

 4والباقي   6=

     6 
     52    8   
     48 
    4 

-
 

 4والباقي   7=

     7 
     67    9   
     63 
    4 

-
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